JIERL K4 OUT IN Z'B X HDCP * v h
1 fir |y % 45| 45] 90| 21.6| 68.4
2 | TR % 40 42 82| 12.0] 70.0
3 LTI A 45| 43] 88| 18.0| 70.0
4 L) R 2 42] 46] s8] 18.0] 70.0
5 (LB HE 43| 43] 86| 15.6[ 70.4
6 {ir| il iz 44] 46] 90| 19.2[ 70.8
oA PIE 431 40] 83| 12.0[ 71.0
LRVAYIT: R 37] 43] so] 8.4] 716
9 fir| A% i 401 39 79| 7.2[ 718

10 fr|faH AFE 471 37] 84| 12.0] 72.0

11 7R $FIE 431 47]  90] 18.0[ 72.0

12 7| IaA 1E 46] 50] 96| 24.0[ 72.0

13 {7 ik it 551 47| 102] 30.0[ 72.0

14 {7 | fRH BER 38] 391 77| 4.8[ 72.2

15 il 25 42] 47] 89| 16.8] 72.2

16 (7| B i 54] 52| 106] 33.6[ 72.4

17 7| T s 45| 48] 93] 20.4f 72.6

JERVAL SR 501 49] 99] 26.4[ 72.6

19 {7 | K& el 53] 46] 99] 26.4[ 72.6

20 {r[rpl EKR 41 45] 86| 13.2[ 72.8

21 {r|#E Fnk 511 46] 97 24.0[ 73.0

22 i | R0 41 43] 84| 10.8] 73.2

23 {0 IEAT 47] 49]  96] 22.8] 73.2

24 {r|EH 54 471 41 88| 14.4| 73.6

25 P\t Fkdt 44| 50] 94 20.4| 73.6

26 fir| 5 (51T 48] 46] 94] 20.4] 73.6

27 frlaiil wi 49] 45] 94| 20.4 73.6

28 \r|&5E 1B 51 49| 100] 26.4] 73.6

29 fir|thk Wk 42] s51] 93] 19.2] 73.8

30 {71 w % 48] s51] 99] 25.2] 73.8

31 L[k Ef 501 49] 99] 25.2[ 73.8

32 L[5 E— 44| 41 85| 10.8| 74.2

33 | RS 44] 41] 85| 10.8] 74.2

34 {8 A 2] 42] 84| 9.6 74.4

35 (iR B2 48] 42] 90| 15.6| 74.4

36 (| #a] 471 49] 96| 21.6[ 74.4

37 LRI Wl 46] 43] 89| 14.4] 74.6

38 N |#AiH P 46] 42] s8] 13.2] 74.8

39 {4 5kt 47] 46] 93] 18.0] 75.0

40 7| A48 g 50 49] 99| 24.0] 75.0

41 7| FFH IESE 52 47]  99] 24.0] 75.0

42 | EEH R 46] 53] 99] 24.0] 75.0

43 | B B 47] 45] 92| 16.8] 75.2

44 LA B 52 52| 104] 28.8] 75.2

45 fir|iPE 517 42] 43] 85] 9.6] 75.4

46 i |foe =— 56 47| 103] 27.6] 75.4

47 | KA 3 E] 55 54| 109] 33.6] 75.4

48 |7 BIA 57 52| 109] 33.6] 75.4

49 7|32 R 56] 53] 109] 33.6] 75.4

50 Az [d)Il 55 44] 46] 90| 14.4] 75.6
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JEpr K4 OUT IN Zwa A HDCP $ v b
101 i |11 W5 53] 56 109 | 28.8] 80.2
102 {ir (428 (Eae 55] 53] 108 | 27.6] 80.4
103 fir|i —5 56| 58] 114 | 33.6] 80.4
104 f7 |3 FIE Bk 49| 52| 101 | 20.4| 80.6
105 iz [tEA B 491 52| 101 | 20.4[ 80.6
106 {7 [#2%F 18— 55 52] 107 | 26.4] 0.6
107 fir|Pakf 56] 50| 106 | 25.2] 80.8
108 fir|)IEy 5% 64] 48] 112 | 31.2] 80.8
109 fir|prak et | 59) s9] 118 | 37.2] 0.8
110 {7 [ 2% E8 57 48] 105 | 24.0] s1.0
111 fr[AH B 58] 52| 110 | 28.8] 81.2
112 {7 | B o 47] 55] 102 | 20.4] 81.6
113 fir | M F5HR 49] 58] 107 | 25.2[ 81.8
114 A7 [FFB B4 551 57 112 | 30.0[ 82.0
115 {7 | 157 50] 52| 102 | 19.2] 82.8
116 {r[KoH JiE— 53] 54| 107 | 24.0] 83.0
117 7|78 Wl 58] 54| 112 | 28.8[ 83.2
118 {18 A 56] 55| 111 | 27.6] 83.4
119 {ir[Jb%p S8 66] 50| 116 | 30.0] 86.0
120 {r|MiH e 55] 54] 109 | 22.8] 86.2
121 {7 |45 Fidh 48] 57| 105 | 18.0[ 87.0
122 fr[ese ket | 48] 55| 103 | 15.6] 87.4
123 {7 | ZRIE K 60| 68] 128 | 38.4] 89.6
124 {r[%7 e 74] 57] 131 | 37.2] 93.8
125 frfiio g 60] 71| 131 | 32.4] 986
126 LI W 62| 79] 141 | 40.0] 101.0

NERE K4 OUT IN Z®m A HDCP % v b
51 fir|PeE & 46 50| 96| 20.4] 75.6
52 fir|dbi% #k 47| 55| 102] 26.4] 75.6
53 fir | fEA FIB 54 54| 108] 32.4| 75.6
54 fr| Il F IERE 47 48] 95| 19.2] 75.8
55 (i [ Lk 54[ 53] 107] 31.2 75.8
56 fir|®H % 43| 39] 82| 6.0 76.0
57 fr|fEM i 47 47]  94] 18.0] 76.0
58 | FFnfe ekt 51 49] 100] 24.0[ 76.0
59 fir| Ky €% 48| 52| 100] 24.0] 76.0
60 fir|k4r Pl 52| 54| 106] 30.0] 76.0
61 |kl 4FE 50[ 49] 99] 22.8] 76.2
62 A4S B 44 42] 86] 9.6/ 76.4
63 i |45 KL 49 43]  92] 15.6] 76.4
64 fir|NET BT 47| 51 98] 21.6] 76.4
65 fr[IliA iR 42 43] 85] 8.4 76.6
66 i | & 54 48| 43] 91| 14.4] 76.6
67 fr|dbil =5 54[ 49| 103] 26.4| 76.6
68 fir|HAR % 47 49]  96] 19.2| 76.8
69 i |BOR W 45| 50] 95| 18.0] 77.0
70 L [VERS E 53| 54| 107] 30.0] 77.0
71| FE 52| 55| 107] 30.0] 77.0
72 LKA 60| 53] 113] 36.0] 77.0
73 L)1 E— 54| 58] 112] 34.8] 77.2
74 LI A 51| 42] 93| 15.6] 77.4
75 | AR R 511 42] 93] 15.6] 77.4
76 L[ JERF BE 45| 46] 91| 13.2] 77.8
77 {r| g fE 45| 52 97| 19.2] 77.8
78 | W 471 49] 96| 18.0] 78.0
79 fr| KA FEE 531 49] 102] 24.0] 78.0
80 fir| )2 e 50| 45] 95| 16.8] 78.2
81 fir]| - fH] 531 48] 101] 22.8] 78.2
82 i |4 - 47 47] 94] 15.6 78.4
83 fr|HFF WHA 58| 54| 112] 33.6] 78.4
84 | KK % 48] 51 99| 20.4] 78.6
85 {ir |y #% 53] 52| 105] 26.4] 78.6
86 fir|/Mbk ¥ 52[ 52| 104] 25.2| 78.8
87 fir|vg)Il ik 53] 57] 110] 31.2] 78.8
88 fir A & 53] 50] 103] 24.0] 79.0
89 fr|ilA HRME 521 57] 109] 30.0] 79.0
90 fir|hH e 511 51] 102] 22.8] 79.2
91 fr|#EH R 50| 58] 108] 28.8] 79.2
92 fir|9H HEVE 58] 56| 114] 34.8] 79.2
93 | %k % 50| 63] 113] 33.6] 79.4
94 fir A il 49] 45] 94| 14.4] 79.6
95 fir| ZEH 5L 54| 52| 106] 26.4] 79.6
96 {7 [FFEF 1% 58 54] 112] 32.4] 79.6
97 fir|hill B 43 44] 87| 7.2] 79.8
98 fir| it B 45| 48] 93] 13.2] 79.8
99 fir | 2k 52| 58] 110] 30.0] 80.0
100 A7 [INjiE #= 62| 54] 116] 36.0] 80.0




